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QUESTION 1

Which of the following protocols provides a connectionless transport service? 

A. IP 

B. IPX 

C. TCP 

D. UDP 

Correct Answer: D 

 

QUESTION 2

The following is true about the routing self-loop description in an OSPF network? 

A. Route self-loop has been eliminated in the OSPF area; 

B. There is no route self-loop between OSPF areas. 

C. The routing self-loop is not eliminated in the OSPF autonomous system. 

D. There is no self-loop in the external route of the OSPF autonomous system. 

Correct Answer: A 

 

QUESTION 3

The two Huawei low-end switches communicate through the aggregation port. Which of the following factors must be
consistent? (Multiple choice) 

A. Number of links to be aggregated 

B. The number of the port to be aggregated 

C. Duplex mode of the aggregated link 

D. STP, QoS, VLAN related configuration 

Correct Answer: ACD 

 

QUESTION 4

Each routing protocol corresponds to a routing priority. What is the priority range? 

A. 1-1024 
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B. 0-255 

C. 0-256 

D. 0-1024 

Correct Answer: B 

 

QUESTION 5

When two routers perform LSDB database synchronization, which of the following messages is used to describe their
own LSDB? 

A. Hello 

B. DD 

C. LSR 

D. LSU 

Correct Answer: B 
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